(" WWERFHREET |

LZ-5013 LED#L4EXT

LEIFQLE

= o
(== N ) 1

A

a9

wwﬂ

350/400/450
AR
No S |
@ V7 i~ = I
= O—Pmprr it e giolo) £l
il i~ [ d
= - i)
348/398/448
360/410/460
T o 1| -
I 1 i D AC A
~
N~
372/422/472 47.3
BARE®E
me LZ5013.800-1 | LZ5013.1000-1 | LZ5013.600-2 | LZ5013.800-2 | LZ5013.1000-2
iTKe 5016.049 5016.050 5016.051 5016.052 5016.053
£ mm 422 472 372 422 472
HE (W) 11 11 3.6 4.8 6.5
HE (V) AC110/230V AC110/230V DC12/24V DC12/24V DC12/24V
IPER P20 IP20 1P20 P20 1P20
LZ5013 I HEFH %
T
Bl E R
HEAREE
RS LS5013.1000-1
iTES 5016.054
BE(mm) 1000
me ==

www.leipole.com /128




LZ-4138 HLIEXT

(" YWEFERFRRERYT |

L7-4138.18-2

129 / www.leipole.com

BRAT 4R B

L7-4138.30-1

E20-

&

e — L — N — . —

4

=,
S — mﬂp)?‘mhﬂ
(!

)F;‘; ———t )

S —— ——wrmerTerz e

4x30

BARESE

e LZ-4138.14 LZ-4138.18 LZ-4138.30

¥ (L) mm 450 685 990

B (W) mm 50 50 50

& (H)mm 117 117 117

RHRFLFLEE (1) 275 400 600

HE (Pw) 14 18 30

BE (V) 230 230 230

PR IP18 ( LEDYT ) IP18 ( LEDJT ) IP10 ( 3E5¢4T )

A5 15 S RELRL BS IS RELRL

LZ-4138.10-1 5016.001 224 LZ-4138.10-2 5016.024 224
LZ-4138.14-1 5016.002 275 LZ-4138.14-2 5016.005 275
LZ-4138.18-1 5016.003 400 LZ-4138.18-2 5016.006 400
LZ-4138.30-1 5016.004 600 LZ-4138.30-2 5016.007 600




LEIFQLE
[ JERRBRITFX | —

NEESIES Wi
BS L84315.500-1/|LS4315.1000-1 BS LZ74315.200-1 | LZ4315.600-1 | LZ4315.4000-1 BS LZ4315.100~1 | LZ4315.100-2 | LZ4315.100-3
TS 5016.014 | 5016.030 TS 5016.011 5016.012 | 5016.013 TS 5016.008 | 5016.009 | 5016.010
B (mm) 500 1000 K E(mm) 1000 600 4000 K E(mm) 1000 2000 3000
He HE HE He e He Be He #He #He #He

I IF001-16x3 /5 /7

[ dueEEsg |

S HES BS iTHS S THES

IFO01-16x3 5016.021 IFO01-16x5 5016.022 IFO01-16x7 5016.023

16

BLEAAEIVHEREIESEESRER B 4.
MRNBHFRF SRR AR (FRRAN) | WHRZAN. WRESEAENEE. Gk, HEREN. RIFME
BEMRETMEIMIEE.

[ yETHE |

s
: B . U :
S
.
s

WJ-1 ) — L fuw
- [}
| T | o
220 13.5 30 25
Bs me 1155

—~ WJ-1 Be 5016.019

WJ-2 RAL 7035 5016.020

WJ-3 RAL 7032 5016.025

WJ-2 (RAL:7035)

www.leipole.com /130



PGERBK R TR L

Er e

WIE Ce | HE BR BiE% P68

-
o%
N
N-‘II!
] it B#£6.6
o EH: THEERE
Witk P68
HEHE.: KE
= (BITH)

BARKIRE

S LEpgH B4 PG7 PG9 PG11 |PG13.6| PG16 | PG21 PG29 | PG36 | PG42 | PG48

ﬂﬁ%(jﬁé) 5014.001|5014.002 | 5014.003 | 5014.004 | 5014.005|5014.006 | 5014.007 |5014.008 | 5014.009 | 5014.010

ITRS(Re) 9014.011(9014.012|9014.013|9014.014 |9014.015|9014.016|9014.017 | 9014.018 |9014.019 | 9014.020

+ AEEmMmm 3-6.5 4-8 5-10 6-12 10-14 | 13-18 | 18-25 | 22-32 | 32-38 | 37-44
AGHMEMmM 12,5 15.2 18.6 20.4 22.5 28.3 37.0 47.0 54.0 59.3
GLmm 8 8 8 9 10 11 11 13 13 14
Hmm 20 22 24 27 28 30 38 45 47 47

RS EEAHHEL M12x15 | M14x15 | M16x1.5 | M18x1.5 | M20x15 | M22x1.5 | M24x 1.5
THES(ke) 5014.031 | 5014.032 | 5014.033 | 5014.034 | 5014.035 | 5014.086 | 5014.037
THES(RE) 9014.036 | 9014.044 | 9014.087 | 9014.045 | 9014.038 | 9014.046 | 9014.047
FAsEEmm 3-6.5 3-6 4-8 6-10 6-12 10-14 10-14
AGHMEMM 12 14 16 18 20 22 24
GLmm 8 6 8 8 9 9 10
Hmm 22 19 26 21 28 22 23

S LEANHHES  M25x1.5 | M27X1.56 | M30X1.5 | M32X1.5 | M36X1.5 | M40X1.5 | M50X1.5 | M63X1.5
ITRS(k&) 5014.038 | 5014.039 | 5014.040 | 5014.041 | 5014.042 | 5014.043 | 5014.044 | 5014.045
RS (RE) 9014.039 | 9014.048 | 9014.049 | 9014.040 | 9014.050 | 9014.041 | 9014.042 | 9014.043
K HASEEMmM 13-18 13-18 13-18 16-21 18-25 22-32 32-38 37-44
AGHMEmMm 25 27 30 32 36 40 50 63
GLmm 10 11 11 11 11 14 14 14
Hmm 35 25 25 34 29 42 49 50

1317 www.leipole.com




PG-M& /& 2Bk & 4k 155@25

ETVEETETY

WIE Ce | wH HEER B S% P68

b EEER

RE M RE(PA)
TEEMR: TESE
iBESEE: -40CE+100T

ERAT%+120C
B3 &L 1P68

EAREIE
RS EFpgHEY  PG7-M | PG9-M |PG11-M |PG13.5-M|PG16-M |PG21-M|PG29-M|PG36-M |PG42-M|PG48-M
= 5014.021 |5014.022 |5014.023 | 5014.024 | 5014.025 | 5014.026 | 5014.027 | 5014.028 | 5014.029 | 5014.030
FASEEMmM 3-6 4-8 6-10 6-10 8-12 13-18 | 18-25 | 25-32 | 32-38 | 37-44
AGHMMEMmM 12.5 15.2 18.6 20.4 22.5 28.3 37.0 47.0 54.0 59.3
GLmm 6 7 8 8 8 11 11 13 14 14
Hmm 19 20 21 22 23 25 29 35 37 38

S LBAAHHES  M12x1.5-M | M14x1.5-M | M16x 1.5-M | M18x 1.5-M | M20x 1.5-M | M22x 1.5-M | M24 x 1.5-M | M27X2-M
TS 5014.046 | 5014.047 | 5014.048 | 5014.049 | 5014.050 | 5014.051 | 5014.052 | 5014.053
+~ AsEEmm 3-6 3-6 4-8 6-10 6-10 8-12 10-14 13-18
AGHMEMmM 12 14 16 18 20 22 24 27
GLmm 6 6 7 8 8 8 10 11
Hmm 19 19 20 21 22 22 23 25

S LEAFHES  M30X2-M | M33X2-M | M36X2-M | M42X2-M | M48X2-M | M54X2-M | M60X2-M | M64X2-M

IS 5014.054 | 5014.055 | 5014.056 | 5014.057 | 5014.058 | 5014.059 | 5014.060 | 5014.061
K ASEEmMm 13-18 16-22 18-25 22-28 25-32 32-38 37-44 37-44
AGHMEMmM 30 33 36 42 48 54 60 64
GLmm 11 11 11 12 13 14 14 14
Hmm 25 28 29 29 35 37 38 38

www.leipole.com /132



[ BgEIAEE |

US8/US3/US1

NE C€

¥ BEPBT)

prtrELR IP55

ARERBURESERRMREEMARERNEL, MBMHSINR—EER,

BAREIRE
S us1 us3 uss
TS 5011.035 5011.036 5011.037
= . RAERZEMM 47 21 13
—— SEEMEAH 1 3 8
., | UZ6-12—UZ46-50
[ UzZmfEk |
WE C€ | MR
FABER R EEEEEEBYTEN L.
& BAREIE
~ £ B2 uze-12 uz12-16 Uz14-18 Uz18-22 Uz22-26 UZ26-30
¥ ¢ THS 5011.024 | 5011.025 5011.026 | 5011.027 5011.028 5011.029
( - B4 E Emm 6-12 12-16 14-18 18-22 22-26 26-30
.~( z = S UZ30-34 UZ34-38 UZz38-42 UZ42-46 UZ46-50
TS 5011.030 5011.031 5011.032 5011.033 5011.034
BAFEEmm 30-34 34-38 38-42 42-46 46-50
— _ | JU-1
(Ju-1=peEz |
WE C€ MR EWR, @8, SR

( UEEBSSBINGE. 5 |

AR ANEE =A%

40 x 40K EBI%E

ik

JUu-1

1THS

5011.047

UER3I. UFR3I

UERZ

UF#3F]

1337 www.leipole.com

UEZ3) c

AIE C€

7 B, E%

B=(N-1)x72

72

5.
62

Z i
Qg

EF&?K%X;E

o ‘
Yy
1y
/e
el
[} 33
LT

,-' §

A R ARLE
UFZ3I 30 15
12,5
= e | 4
] E 2|
UEE 5| AR EERER UE600 UE800 UE1000 UE1200
A 428 628 828 1028
N 5 8 10 5x2(EH2ih)
C 70 62 90 70
UFIAZ R EEER UF600 UF800 UF1000 UF1200
H 428 628 828 1028




LEIFQLE

= S
(== N ) 1

( UBEB#IEF RS |

B
= |

:

:

T
UB6-12—UB50-64
HEAREE
MRS UB6-12 | UB12-18 | UB18-22 | UB22-30 | UB30-34 | UB38-42 | UB42-50 | UB50-64
TS 5011.001 | 5011.002 | 5011.003 | 5011.004 | 5011.005 | 5011.006 | 5011.007 | 5011.008
-*~ BHERO (M) 6-12 1218 | 18-22 | 22-30 | 30-38 | 38-42 | 42-50 | 50-64
]
- EE B mm 21 25 27 39 45 47 57 70
H H mm 23 75 70 85 90 95 120 130
* RENEHHRITE
UB12.2—UB34.2
FAREIE
MEHRS UB12.2 | UB14.2 | UB16.2 | UB18.2 | UB20.2 | UB22.2 | UB26.2 | UB30.2 | UB34.2
TS 5011.009/5011.010/5011.011|/5011.012{5011.013|5011.014|5011.015|5011.016|5011.017
AEWES UB12.2E | UB14.2E | UB16.2E | UB18.2E | UB20.2E | UB22.2E | UB26.2E | UB30.2E | UB34.2E
BYHERO (mm) 6-12 12-14 14-16 16-18 18-20 20-22 22-26 26-30 30-34
B mm 16 18 20 22 24 26 30 34 38
H mm 75 77 81 85 90 95 104 122 130
* RENEHHRITE
UB12.3—UB22.3
'™ AR EE
MRS UB12.3 UB14.3 UB16.3 uB18.3 UB20.3 UB22.3
TS 5011.018 5011.019 5011.020 5011.021 5011.022 5011.023
AHEWES UB12.3E UB14.3E UB16.3E UB18.3E UB20.3E UB22.3E
BAERO (mm) 6-12 12-14 14-16 16-18 18-20 20-22
B mm 16 18 20 22 24 26
H mm 105 107 109 113 117 125

K DEEMERFHRITE

www.leipole.com / 134



[ s&sns |

&4 RAL 7032

L5
¥ ABSTE¥EHR PCEH BPER IP65 HELMARATRETL
° °
{
»
» L]
o
i ] I
>
: L)
o » ™
- } \_ > _.
g % S '
- \ o
{;3,&:,;‘
-
@
LP 6021ABS
ey SHEALAE ©
. [ q % % ”F BARSE
™ 36 37 2
‘ N =3 LI LP 6021ABS
3 M20 M20 N
wl LIS e o l.l o TS 5013.001
. v { F 3 BOEER ERL Mx 15 (EBINTHE)
{ — X R 5 8 E FRmm? %2.5mm?2, 3~/4mm?, 1~
LP 6031ABS
-~ 98 —f SLHAILAE @
~:a| R wawn
{ ~N . 88 e LP 6031ABS
‘ T % m2s i.l m2s THS 5013.002
23 %2 P - (e t: M25 M25
: ] | 5 R E E Bk Mx 1.5 (FERBIMTE)
- 3N S & B ERmm? ZE4mm?, 3~/6mm?2, 1~

1357 www.leipole.com

THERSIEEL. TRTF




LEIFQLE

= S
(== N ) 1

SENEE )

FETRE RAL 7032 s | EREWSEEL. BiRT
#$ ABST 5 PCER BRER 1P65 T ESKRANAAHBEL
LP 6041ABS
o o SHWAILLE @
7 . BABR
ol 52 &
l % 888 S LP 6041ABS
E ‘ Eax T M25/32 l.i m2ss2 | TS 5013.003
283853 M25/32 M25/32
e { = T BEE TR E Mx 1.5 (BHIMTE)
§§ g X R S4B E FRmm? ZE6mm?2, 3~/10mm?2, 1~
LP 6051ABS
. ' SHPATLLH @
pa— BA SR
- 33
. iﬂf‘ ‘ o o 888 A= LP 6051ABS
Rl 3 N
i M25/32 m2s32 | IS 5013.004
l 1 tis M25/32 l.l M25/32 ”
4 823832 R B R B Rk Mx 1.5 (BBIMTE)
i S8
’ \ e §88 X4 Rz S 4 B FRmm? ZE10mm2, 3~/16mm2, 1~

LP 6061ABS

200

. . 79—
165
3 —140—— —_—
f — | 100 —
\ g =7 A %R
é Y piiE=s LP 6061ABS

~|P4.2

5013.005

TS

By EE Bk Mx 1.5 (FHBIMTE)
3R S48 EmARmm? Z25mm?, 3~/35mm?, 1~

LP 6071ABS

s
[—148 18— FARE®E
*3‘7.5‘* *‘37.5* 95 —
T I I ‘ S LP 6071ABS
) iTES 5013.006
@ 3 2o E e N E L Mx 1.5 ( FHIMNTE)
S
‘ ‘g ¥R S E R ~
. R M@g Xt N S 4 E B A mm? Z50mm?, 3

www.leipole.com / 136

ja
r=
A
o
3
-
A\=2)
~{[~4.2

“‘i‘

184 ——
3.4 —

'y

e

~——148 ——
40—
=

0

—210 ——




A5 x 25-11K/13K/15K/17K/21K/25K

E )
s
© @ © Ny o p
o |© 14 § E
30=977
J— SCRHES x 25 B4, BIRAAEIT5A,
FKREIRE REIER 04.5FBEHE
# 5 A5x25-11K A5x25-13K A 5x25-15K
AN 5015.001 5015.002 5015.003
B K 183mm 194.5mm 208mm
ZEILIE(E) 161.5mm ©4.5 170.5mm ®©4.5 185.5mm ©4.5
5 A5x25-17K A 5x25-21K A 5 x 25-25K
RS 5015.004 5015.005 5015.006
B oK 222mm 249mm 275mm
RIEILEB(E) 199.5mm ®©4.5 225.5mm ®4.5 253mm ®4.5
E 6x8.5
3.0
=1
oee | oodllF] ik
= «Q BAME BBEHIx 1THEE, RELEE 06
H 5 B 3x17-5K B3x17-7K B 3x17-10K
TS 5015.007 5015.008 5015.009
B K 125mm 152.5mm 190mm
LEEILE(E) 110.5mm M5 138.5mm M5 176mm M5
C5 x 15-5K/7K/10K
E 2
. s
‘fo oo 000 9 ¢ 2[; =
S0
ﬁ*&ﬁ JORHES x 158 AHE, HRBE225A, REILER 06
b C 5x 15-5K C 5x15-7K C 5x 15-10K
1T5HS 5015.010 5015.011 5015.012
A K 157mm 188mm 220mm
RIILEE(E) 135.5mm M5 165mm M5 200.5mm M5
D8 x 12-4K/6K/8K/10K/12K
P — REILER 06
HAREE ST HEE B EINT RS < 1211 HARE180A
i D8x12-4K | D8x12-6K | D 8x 12-8K |D 8 x 12-10K |D 8 x 12-12K
TS (ER) 5015.013 5015.015 5015.016 5015.017 5015.018
REFLEB(E) 48mm M4 65mm M4 82mm M4 99mm M4 116mm M4
#5 D 8x 12-5K D 8x 12-10K
IS E®) 5015.014 5015.038
REFLIE(E) M4 M4

137 1 www.leipole.com




E8 x 12-5K/10K/15K

E6 x 8-5K/10K/15K

LEIFCLE

ml—D l

et dad BieRl ) -
238838

CRAFEEE, TEEKEIXKTEENE
C-HLn (nAMAEKE, 8. XK)

O CRHEE R A B KT ER D 3
@2 CRHB x 12FBFEATLBIE

@ HH PR & EK1000mma] 4 &
@4 XEHRAER6.6HIK, BSHE

6x8

M4

il
[0O0000000000 G}

8x12

ind
(000000000000 G

BRI
i = E 6 x8-5K E 6 x8-10K E 6 x8-15K E 8x12-5K E8x12-10K | E8x12-15K
TS 5015.019 5015.020 5015.021 5015.022 5015.023 5015.024
B K 73.5mm 114mm 177mm 91mm 140mm 196mm
RIEFLICEE 63mm 104mm 145mm 81mm 130mm 186mm
B3R | 45K 135A 170A 150A 255A 240A 225A
70K 165A 210A 190A 320A 300A 280A
F9 x 14-5K/7K/10K
9
!
1
ARSI
B 5 F 9x 14-5K F9x14-7K F9x14-10K
iTRS 5015.025 5015.026 5015.027
2 K 75mm 75mm 106mm
LRI 62mm 62mm 93mm
H9 x 19-26K H9 x 19-50K
19—
[ ¢
€
Mo 9x19 %JM%]
: [6ooo0o00 ocooooo || |]]
: Loss
FARYE
5 H9x19-26K H 9 x 19-50K
1155 5015.035 5015.036
B K 144mm 230mm
RHRILIDEE 48mm 120mm

www.leipole.com /138




